novotechnik
RAREBBEAR (L) FRAF

TR/TRS R5If& R3S
HEMBAERKSE, TEEHEX 100 mm
HEAEE

W B
A 5t B S
% % AT ST
EivA F AIS| 303 ANEEHN, WP L TERE S ®, PIREL M2.5x6
2 ke A M5x0.5 {EAE IR T ENER, HKALEE, AFgzohsi )y
EQUTIVS Wisi DU 2 90k} il
HUBH T S Rt
AL AR AT R, SRR e
WA
TR #751 35 PVC Biiigl, 3x014mm®, K2%
TRS %5 5 %} IEC 130-0 Il ffi %
. FRES
TR-0010 023260
TR-0025 023261
TRS-0025 023271
TR-0050 023262
TRS-0050 023272
TR-0075 023263
TRS-0075 023273
TR-0100 023264
TRS-0100 023274
RERERES
iS¢ T
o MK, BTREATE 100 x 10° Kigs) 25 FRES i
I e TR-0025-.1 023265 +0.1 %
o MRS, EemAlis £0.075% TRS-0025-.1 023275 +0.1 %
o iy HH WL B A Sk R gk TR-0050-.1 023266 +0.41 %
gt TRS-0050-.1 023276 +0.1 %
o A AR fh °
- TR-0050-.05 023267 +0.05%
o Wivin A fhk TRS-0050-.05 023277 +0.05 %
o biopdi FnREIAOME AL S TR-0075-.05 023268 +0.05 %
TRS-0075-.05 023278 +0.05 %
TR-0100-05 023269 +0.05 %
TRS-0100-.05 023279 +0.05 %

B A 145 T S v 2Dt KA RS HIF— A5
i RIEAT A B R RSN A ) H A R L [
ERAEENE, AREMEX  Had TRER0E i,
A E AL A - A BN E, 28 BT pi

Jiif ChnfE e R D AR )%
i 1 TR i 22 e e K RS B 2
SRR . BLAT R E
—ARRNFE, fEREEHA
L B8 FL i R AT B B 4 R A
73l 77 AR e 25

EEM 33-70 EEM 33-71 EEM 33-72

31

34

1

BREABEAR (L) FRAF  DEL:400-800-5927 3k T.: 18017427003

www. tifu—auto. com



novotechnik
REREBEAR (L) FRAH

21
|
©
S| o Nl
T U 1 |
o (i T—T =
T L <
| ERE . ] -
= o
DIN EN ISO 1207 & &=F }
M4x10 16 ] Y N
3 o 3
T’Aﬁjﬂﬁ = DIN EN ISO 1207
5K 140 Nem M4x10 16
HLE )5

(=]

ik 140 Nem Lo
[se]
©0

=

£ M2.5x5

@

Qo

Q
8
3
g

Z-45 Z
|®
@@l 4 |
< - — 5
S < — 2%

@ | @] ¢

<l
&
<Q
&
L1¢]

SW-10

c
12

SW-10
: i
t +C.3|
288" 2i§
40

1 ke 1

24 2

3fif :

A Hek

BREBEEAR (L) FRAT  DEL:400-800-5927 3¢ T.: 18017427003

www. tifu—auto. com



RAEBEAR (L) FRAH

novotechnik

BEEN TR-0010 TR-0025 TR-0050 TR-0075 TR-0100 Y
TRS-0025 TRS-0050 TRS-0075 TRS-0100 sk
BESH By
AR 10 25 50 75 100 mm
A TR 12 27 52 77 102 mm
i B 1 1 5 5 5 kQ
BELAE 2 7% 20 +%
T L P 0.25 0.2 0.15 0.1 0.075 +%
DES N1 0.002 mm
R A AL IR <1 PA
BRI R de K LT 10 mA
R F U AR 24 42 42 42 42 %
it R S A\ R A RO R AL WH 5 ppm/K
#aZHHi (500 VDO) >10 MQ
#2538 )% (500 VAC, 50 Hz) <100 pA
RS
HMSEREE (R A) 48 63 94.4 134.4 166 +1mm
FFRE (RS B) 15 30 55 80 105 +1.5mm
JFC (TR £51) 7 12 12 12 12
JUFD (TR %51 6 32 32 32 32
WA
g 80 120 150 180 200 g
ik 74 100 128 150 g
HEER B P AT 1 18 25 36 48 57 g
LAESZ ) (AKFT510 ) <385 <25 <25 <25 <25 N
TAEHTRZ T (ARFT51 ) <5.0 <5.0 <5.0 <5.0 <5.0 N
A B TAEZ T BK5 N
Je K TAEIR R (R8T OURIA% R 25 A D Sk |- 22 4ent ) 20 18 14 11 10 Hz
111 532 ST ) e K o VLR 140 Nem
HESH
ARG -30 ... +100 C
biohiibrie 5...2000 Hz
A we=0.75 mm
A =20 g
Pk ahbrife 50 g
1 ms
i >100 x 10° *x
Bl 4125 4% IP 40 (DIN EN 60529)
TEARERE HEE G AR FEEm
24 Z-45 Tk, WG T FR PR 2 MAP .. 44~ 73-31 e R R P A &L
44 M4x10 15T G5B MUP ... /MUK ...,  F=@&%i%5: 059010 MAsdr. MR PN

1A A ) fih

TAEHE 24V, FRiEls S5

H#k, IEC130-9,
5x0.75mm?, @ 4-6 mm
EEM 33-70, Aiiihtie, IP67
EEM 33-71, btk P40

2543, IEC 130-9
EEM 33-72, #iBtill, IP40

R HSk Z-R50
P g 005678

BELAEL g FE TR SRR i JEE 2
Bl RALES TARELIEH
TROR A A v A 25 A i P
JRES IR, HL )b A
(le <1 pA) FIZIERHHAY.

WA S, AT

BREABEAR (ki) FRAT  DEL:400-800-5927 3K T.: 18017427003

www. tifu—auto. com





